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F—is BEIHMSMERID

TRRMEEZ K, ERARFRX, FREXBESFHMBIEFEKFER,
T IR AR E MRS . X80 BN AR R
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1. xHiEEs

X—#4r3t 10 8, BEE — X, MEEH - EE, §NEEE
B 13 BRI R, BoRE A NSRRI 280 b ik — D RS R
BRI B 140 7, RiE—R.

X ER S R E M A ANRTH RS & P8 — RIEE, WaX
BE TR BN, AXEREEROEN, FXAARS, HEMRRAEK
REOBHEE, WA EROR OEE, BEH%; JRFE, AHRA,
Bem A, i, ARaEE,

WAXMEERS RN T EY ALY bR XAR, B, HRY,

1.1 38 R34 37 (computation conversation)

WX EEERFERBEAREMNILARFRBAL S —1, K
B R MBERZERAAMEREE. HFEEW LEIHESH,
"YU R R, Bat, RES, S8, B, EESHE. W,
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W I heard that you were late for today’s interview.

M: Oh, yes. I was caught up in a traffic jam and when [ arrived at the
interview at 8:45, I was 15 minutes late.

Q: When did the interview start?

A) 8:15 B) 8:30 C) 8:45 D) 8:00

XA E EEZORE A RFEWT R F TR 5, B2, HAEHE
WA, AN ATRICK, THEYBEZ KL AMEE, BARXH.
AE SIS, HE.

2.

W: May I have your number and have him return you a call?

M: Yes, I can be reached at 5791234 belore 7 o’ clock, and after that, try
me at 5771214.

Q: At which number can the man be reached at 67

A) 5771214 B) 5771234 C) 5791234 D) 5971214

XEEFEEEELEPRINERFHIGES .

5] 3.

M: Today's temperature is supposed to reach 57°F and go down to 35°F
this evening.

W That’s more than 18 degrees’ difference.

Q: What's the difference between the highest and the lowest temperature?

A) 18 B) 22 0 12 D) 35

BB F TR 18 bR ERATINEE . R 0K & & i 0k = &
R E TR R, (HR L F A “more than” SZPRAT LA T BY 7R 1T HERR
TEH A5 C,

1.2 Hb &5 % %435 (place conversation)

EXEMEERLZHER T HAE RS B E R & MR A — L5 H
Hb G AR SR RV T LARE 7, BE oK 8 AE AR X 1% 2 22 1) 9 A1 T 56 2R #f 0B7 X i
RERIG T, Hlm.

i} 4.

W Anything else, sir?

M. Oh, I want three stamps, two envelopes, two post cards.
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Q: Where does this conversation take place?
A)department store B) post — office
C) travel — agency D) cafeteria
MEPRAEEERENFREEE o, ERESEFRLN
“stamps”, “envelopes”, “post—cards” %5 {z BiA, FIHEIE G K AW R L
X,
% 5.
W Hello, I want to open an account. Shall 1 fill in this form?
M: Yes. You'd fill in a form, but not this one. Go over to that desk and
the man there will help you.
Q: What ’s the most probable place the conversation takes place?
A) It might be a closed room.
B) It’s at a desk where the accountant works.
C) It’s in a bank.
D) It’s a newly — opened shop.
%if 1 P A9 X 18] “open an account”, “fill in a form” B 7R X B X i K 4 7E
“ERIT7
BULA I, e SRR RES, KEEAXMURIER, 5% i
BUEA BB EES XA, B A4 2 700 8 X E N2 BT 48 K& i A1
KM XBERHATHEBAN., EEE - HEFHAMNFEESN, W
“books”, “card catalog”, “renew” iE ABKAB | E HIE, M “menu”, “order”,
“bill” Wik ABKAEE|4EE

1.3 £ A BN} (relation conversation)

X 20 0 B K 3 A S TR R T B R v R 3 5L 1) ke I 5 1 XX
FHIRAR. W,

6.

M: Oh, it’s high time I left. Thank you for your delicious dishes and kind
invitation.

W I feel glad that you have enjoyed yoursell here.

Q: What is the possible relationship between the two speakers?

A) husband and wife

U
|
=
2
it
"
A
|




O &y HMA KL BRMLIS

B) teacher and student
C) hostess and guest
D) employer and employee
MULTE R B E FIE L R — X898, W, “kind invitation”, " [eel
glad”, “enjoy yourself”, S5 ERF —HERFAMEAN KR, HE—H.
&l 7.
M: Look, Ann, no matter how many the customer buys, try to sell him
another one. And sell him a tie, too.
W: Since I’ ve never sold shirts before, Mr. Brown, I may not [ind it easy.
Q: What are the two speakers?
A) salesgirl and customer
B) husband and wife
C) boss and salesgirl
D) teacher and student
T TR T B ——SL 7R 7 DA S — 46 S 8] 40 “buy ", " sell” AN 3 A8 31 75
F NG B AR FRE LK R o

1.4 BRI X] i (direct conversation)

EHEREP, HEANFH—FTEEENMRBIRBNZHKAT, R
MEAPFE—GIRIE , 4 R A0C A48T B B8 )5 0 LA K S X S R Y
BAXRMEE, MATEAWHER, LHNIZEENRZ, XEIREH [ 5k
$EI B Y R AN 8 F X 5 o BT R @R, T AT AR L JR] SCAR], Gl S i Bl L
R SAE AR FERE, W,

fil 8.

W:Let’s talk about preparations for the party.

M. Right. We really need to plan better this time. Remember what a mess
it was at the last party.

Q: What do we know about the last party?

A) It was pretty good. B) It was not well organized.
C) It was rather dull. D) It was attended by many people.
XS 75 ) “ what a mess it was” BEAT H13E E— KRS TR — RN, X

S R 5 15 25 B)not well organized SR ¥ . FHHE .
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9.
M:Do you plan on flying to the North, Miss Smith?
W: Yes. It costs a lot, but the trains and buses don’t run the day ['m
going, so I have no other choice.
Q: How would Miss Smith'go to the North?
A) She isn’t sure. B) She’ll go by train.
C) She’ll go by plane. D) She’ll go by bus.
MTFXEETE, REFVES FRENEHEER L F e yes”, "1
have no other choice” 8t 7T %t i s Z: b T HI =,

1.5 BE/R X i (implied conversation)

BAREMEHENENFEREERNO TR NEEE, HAEEEL
HEEE X, XX H R 4A RIEX Fhp s, s, FN, @\
FEMBR N SR E—-FHER, SERERE. 0.

i 10.

M: You call Henry a dreamer. But I think he’s got a lot of good ideas.

W: Good ideas are only useful if you make something out of them.
Q: Why does the woman think that Henry is a dreamer?
A) He has too many dreams. B) He likes to sleep.
C) He doesn’t put his ideas into practice.
D) He doesn’t have many good ideas.
EX AR P, &7 H & A HEMIE Henry MR VI L IR, T2 @i 6
“FRAEFRAEWENAARE AN EERBEREE, FFE—H:
i 11.
M: How did you like the movie last night?
W Considering its interesting name, we were expecting a much better film.
Q: What is the woman’s opinion of the film?

0RF
b
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b §
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A) Interesting B) Exciting
C) Better D) Disappointing
CFHBAEEESE THRN, REARTMEBOER, RFE
EEERH FREINCHEBNET RITHCHETEHN. B2, 8 /.
FEBBRERY LT LR &, %E%éﬁ%ﬁ@%%&ﬁﬁ&%«“
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BRMKE.

2. FCES

W A PR AR A A SRR — AR 2 BR 3 MRS, BRXERAIL
AR, —35 1088, BN EEFEAHE 13 BRI, B E NG 78
140 ), Hif—R,

EIOER L AU, F6R, ML, B iEXe, #7, DA, £5,
AE, WMMTE R, fEURE, AOHKEHSME, tAH /R, &0
45, @RS ERHSE, FREANR, B E,

g i iE ot , B BERER, FE M RM RS 2 8
MARtLE, GFEEAFENHY, REFENERNZAFEEHHA, X
THRHERES, S4ERE XS FTEFEMREFL, HimiLEE "
CHIRKEE -

3. PR “WrEHE"

B R EREE T 1995 4 7 A /AT S —H AT kR 8L >
— EEEEEHANTHEH M —ENBRRLGES

EHSHIERNT . E—BKY 120 AMEXHE 10 4~2#%, 51
ZSRRE R A AP A — A 8 F 308 F 8 — A 54 sl AU — 417, 3
EHE=R, FRSCME, RAGW, {EENEEIHNE: B RE
SRIGHEESW, BEREAETIMAZTEAZHE; FZBES—B—F, &
BEW, SEA#HTEM, EERNEHH 140 7,

“TEES T A RE SR, R, MEESS 0T AN
KB

4. FARBEANE”

HEEANMERERETHRAMMB ZMATMRERAMNELYZ —, HE A
M 1997 4 | AFRESER%FFEN, NEF P REZEMA -

X—MEREEEZFENWTMGE S, HEREN, BiciEhfBimE
KRES . THERSAR B RWNE A, BoRE 4 75 P HA T
B M RER EREARENTATE HES,

BT REAR, B MTE IS FE A R T .



$os HARMEM Q

By WhHEMRLE

Test 1

Section A

Directions: In this section, you will hear 10 short conversations. After each
conversation, you will hear a question. Each conversation and
question will be heard only once. After each question , therewill be
a pause. During the pause, you must read the four suggested
answers marked A), B), C) and D), and decide which is the best
answer and then mark the corresponding letter on the answer sheet
with a single line through the center .

Example:

You will hear: W I heard that you were late for today’s interview.

M: Oh, yes. I was caught up in a traffic jam and when I arrived
at the interview at 8: 45, I was 15 minutes late.

And then you will hear a question:

When did the interview start?
You will read: A) 8:15 B) 8: 30 C) 8:45 D) 8: 00
Since answer B is the correct time, you should mark the corresponding answer B

on your answer sheet.

1. A) In a department store
B) At the post — office
C) In a hospital
D) At a drug — store
2. A) He has quarreled with his wife.
B) He s ill.
C) He is putting on weight.

D) He has been beaten by his wife. 4

(BF)B RO HY SN
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3. A) The man will not take any coffee at all.
B) The man used to drink a lot of coffee.
C) The man doesn’ t drink coffee.

D) The man doesn’t like coffee.

4. A) Nanjing B) Guangzhou
C) Beijing D) Shanghai
5.A)6 B) 8
C)9 D) 12

6. A) He has read the book.
: B) He has not read the book.
| C) The book is badly written.
: D) The book is well written.
V7. A) At 8:00 B) At 7:30
: C) At 8:30 D) At 9:00
: 8. A) The woman agreed to lend him the tape — recorder.
! B) The woman wouldn’t use the tape — recorder.
C) The man wanted to borrow the tape — recorder.
D) The woman refused to lend him the tape — recorder.
9. A) He thinks that the woman has talked nonsense.
B) He doesn’t mind the color at all.
C) He doesn’t agree with the woman.
D) He agrees with the woman.
10. A) He suggests that the woman should teach her son a lesson.
B) He suggests that the woman do not take it so seriously.
C) He suggests that the woman should make up the missed classes for her
son.

D) He suggests that the woman should learn the proverb by heart.

Section B: Spot Dictation

Directions: In this section , you will hear a passage , and on your answer sheet ,

you will find the same passage with several words and sentences

missing. The passage will be read three times. First, listen to the
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tape to grasp the main idea of the passage , then , listen to it again ,
and fill up the blanks with the missing words, and then listen to
the passage for the third time and check your answer .

It has become apparent that the morality of individuals is (11)__ than

the morality of groups. The individual may, through (12) , judge a

situation objectively, even when that situation impinges on sel{ — interest.

The social group, (13) together the natural (14) , tends to

diminish (15)__, particularly in pursuit of its goals. Empathy with the
needs of others, existent in the individual, disappears in the egoism of the group.
The restraint of impulse is served by (16) . Spontaneity becomes
. such is the (18)_ .

The tension created by this dichotomy is inevitable. The rational individual

irresponsibility; (17)

attempts to resist the incursions of his (19) , but is simultaneously drawn,
by common cause or purpose, into the larger community. He must subjugate
internal moral constraints to the group need [or unquestioning support.

Eventually he may identify so completely that he arrogates to himself the (20)
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Test 2

Section A

Directions: [n this section, you will hear 10 short conversations. After each
conversation, you will hear a question. FEach conversation and
question will be heard only once. After each question , there will be
a pause. During the pause, you must read the four suggested
answers marked A), B), C) and D), and decide which is the best
answer and then mark the corresponding letter on the answer sheet

with a single line through the center .

Example:

You will hear; W I heard that you were late for today’s interview.
M: Oh, yes. [ was caught up in a traffic jam and when [ arrived
at the interview at 8: 45, [ was 1S minutes late.
And then you will hear a question:
When did the interview start”
You will read; A) 8:15 B) 8. 30 C) 8. 45 D) 8: 00
Since answer B is the correct time, you should mark the corresponding answer B

on your answer sheet.

1. A) day dreaming B) reading
C) sleeping D) listening to music
2. A)S B) 8
C) 10 D) 12
3. A) Monday B) Thursday
C) Wednesday D) Sunday
. A) hospital B) laboratory

C) library D) bookstore



